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Please check that this question paper contains 23 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 23 questions.

Please write down the Serial Number of the question before attempting it.

15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :
(i)  This question paper contains two parts A and B.
(ii) Part A is compulsory for all.
(iii) Part B has two options — Analysis of Financial Statements and Computerized Accounting.
(iv) Attempt only one option of Part B.

(v) All parts of a question should be attempted at one place.
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aT - %
PART - A
(AT GHT qT St % e araie)

(Accounting for Partnership Firms and Companies)

Tohem, ~oTd o TP Uk ®H & WERR | SR YU WM Hifel W Hl WH o
TERR T@T | WHE AN & 309 917 % fole At goit oo @nid o fere wifgem 60 e
AT | EIRR 991 ¥ Uee! A - BH i 4% Ui a9 =T 60 3% F T 3,00,000 1 F07 {52
TIT AT | 37 H I G 39 a1 W 9 < @7 € o6 0T W 6% AN Hi 3T F AT H
YT fohaT S | T ST T AT el & 2 370 ST b THeH § HROT W |

Kishan, Neelam and Ashima are partners in a firm. They admitted Rehman their

landlord as a partner in the firm. Rehman brought sufficient amount of capital and
premium for goodwill for his share in the profits. Rehman had given a loan of
% 3,00,000 @ 4% p.a. interest to the firm before he became the partner. Now the
accountant of the firm is emphasizing that the interest on loan should be paid @ 6% p.a.
Is he right in doing so ? Give reason in support of your answer.

ST T WERR ST & T Jehg AN €, A 39 AT B T 6g @ & ST | Bt St € 2
(F) e @

(@) THS @r

(M) AT % foT e @

() TR @

When the new partner brings cash for goodwill, the amount is credited to :

(a) Realisation Account

(b) Cash Account

(¢) Premium for Goodwill Account

(d) Revaluation Account

A-BTH TS @ qen =g 3temd @’ | 27Hg ST |

Differentiate between ‘Profit and Loss Appropriation Account’ and ‘Profit and Loss
Suspense Account’.



4. UH WERR F AEHRT TeUT HH UR, T T o 6 TaHT @RI o STl o STHT | i
TR -
(%) TR T&UT FA oTel TRIRR &
@) &t GERR %, S R o S o
(M) I FEERI &, SHh R o S §
() 39 WERRI &, 3% T AN U § 1
At the time of retirement of a partner, profit on revaluation will be credited to the capital
accounts of :
(a) Retiring Partner
(b)  All partners, in the old profit sharing ratio
(c) The remaining partners in their old profit sharing ratio

(d) The remaining partners in their new profit sharing ratio.

5. U ST RO INEE HIE® ohel oA § 2 1

When does a company create ‘Debenture Redemption Reserve’ ?

6. TS el hd T 3 A 1
@) % W q:ife w2t fmar s e |
(@) 3AHAT 10% o T W G FFHT 61 ST el & |
() STehaA §X0T <l TTE W & SRR & 93 W G- AT o2 ST G & |
(F) ST H G BiE Tal
A forfeited share can :
(a) not be re-issued at discount
(b) re-issued at a maximum discount of 10%

(c) be re-issued at a maximum discount equal to the amount forfeited.
(d) None of the above

7. 1 3T, 2012 B TH HEAT A T 100 T F 2,000 8% 0TI T FATHT T 20 WA O
MmO T | FH0Tast 1 9he T 20 Ui OO & WHETH 98 T O | FeE @ vt &
AR 31 T, 2014 T YR FHYeh AT D! TWHER ol IR & 5T H{h 3aT g F FRT
% 20,000 % ROTYAT T I UfeT T FHIAT AT |
31 T, 2014 I FEAT 7 Got IR I IMe 1 & 160 T 16,000 6 FOT9ET 1 567 T 95 Ui
FOTYS Tl T 4,000 S FOTIAT BT 67 T 90 Ui FeoTa fha |
TS o I & T IsHre=n wfaftedt S | 3
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On 1* April, 2012, a company issued 2,000 8% debentures of ¥ 100 each at a premium
of ¥ 20 repayable at a premium of ¥ 20. The terms of issue provided for the redemption
of ¥ 20,000 debentures every year commencing from 31% March, 2014 either by
purchase from the open market or by draw of lots at the company’s option.

On 31* March, 2014, the company purchased for cancellation its own debentures of the
face value of ¥ 16,000 at X 95 per debentures and of ¥ 4,000 at T 90 per debenture.

Show the Journal Entries for redemption of debentures.

8. TAfvm siicrmmaTeet T YRA H 7 AN I HR T aTel ScaTSeh BT € | 39 U1 IR
I | el 3T U Yo [oshd T faeor Sedeh € | 98 BRI & ScAR i fant=T wishareti o
TRTERT R % S HHRUS U § | ST o AN o sreal Sl Torerrgor fR1em ueme
FH F [T 98 U TTamerd =elrdl & a9 Wigh o1 UgaT a7 fore=T fa@= qen mreties anerar
T e 2 U “Uig U1 e b1 TTei el € | ST g 3Tesl i o @l €
AT T 310 SCATRT b1 Sl BT ! GHTET Wl & | 39 [o1T 30 SeiaT & [Usg & § U
T2 IR THTE SN A BT (o v foraeh g0 @ & o Siifereer gt fomam s,
ToroTorer: TretoT &3 3 WIS o groumEtad an & o | fa s sawashar sl IR/ A & folw
3=H T 100 U=F % 70,000 THAT e H FHAT W HT FA q& T 40 TAE h
60,000, 9% FROTGT 1 FIHA A HT o o |

HIT I GEAHT | 3T qAT 9% FOTHT o A % o0 Tawass AsHm=n uiafeat e
T U foRdll Ueh ool o TgT SIS foT ShPoT ST b Tt ST weelt € |

Nishit Automobiles Co. is a manufacturer of low cost cars in India. It has a strong sales

and distribution network spread across the country. It follows high standards in
environmental safety in various processes of car manufacturing. It runs a school to
provide quality education to the children of employees of the company and an ‘Adult
Education Centre’ to help adults learn reading and writing and to acquire basic literacy.
The company is doing well and anticipates a higher demand for its products in the
future. For the same, it decides to set up a new manufacturing unit in a backward area of
Orissa creating livelihood for people, especially those from disadvantaged sections of
society in rural India. In order to raise fund requirements they decided to issue 70,000
equity shares of ¥ 100 each at par and 60,000, 9% Debentures of I 40 each.
Pass necessary Journal Entries for the issue of shares and 9% debentures in the books of
the company and also identify any one value which the company wants to communicate

to the society.
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9. UH WH FRT A 3f|d o T 80,000 &, STEH ST SMER W feqgediishd 3 8,000 i
i dfmfea & | FaEE | T8,00,000 FT ST AW T FA A B AHE T 8% & |
YT & AT T & TR WX HH St A1 i TUET Dl |
The average profit earned by a firm is ¥ 80,000 which includes undervaluation of stock
of ¥ 8,000 on an average basis. The capital invested in the business is ¥ 8,00,000 and the
normal rate of return is 8%. Calculate goodwill of the firm on the basis of 7 times the
super profit.

10.  d¥EEr fares 9 % 1,000 54 3 7,000, 10% T & =T 10% % 95 0 6 | o
T I AR @t o qeETd 5% o WHTH W FA ¢ | FmT @t ot & AR % 300 eRA
TR AT I T A FOTIHA o 3T I3 T |
10% FOT9E o A & feTu STTawess IS Hiaftedt Sty |
Aishwarya Ltd. issued 7,000, 10% debentures of I 1,000 each at a discount of 10%
redeemable at a premium of 5% after 4 years. According to the terms of issue ¥ 300 was
payable on application and balance on allotment of debentures.

Record necessary entries regarding issue of 10% debentures.
11. 31 A€, 2014 I Yo7, P 947 I, ST Teh TAERRT BH & QqERR 4, & fwfq fgeror =
TER T ;
31 |, 2014 &t fefa faavor
. s . e
TgaTe et
®) ®)
o= o ar 2,50,000 | werT 2,60,000
e M 2,00,000 | FeRT 1,10,000
TSt T T 0T 1,00,000
Sl 1,50,000 SR 1,50,000
FHI 1,00,000 ik 1,20,000
I 1,00,000 | 3,50,000 | T 60,000
8,00,000 8,00,000
| STATE, 2014 Sl HYA BT € &1 AT | W 61 o 3T 2 1: 1 a1 | ot Treier &t
T o 9 HEERT Hor@ | =1 i1 Jraem o
() gg o [ v & & T | ITE 91T H T0ET TS dF aut % ST o % SR
TR I S|
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(i) H I AT BT Godish UDet 3 a6 o FHoT ol o STMER U {haT ST |

(i) 9 5N foRdl ATERR T 53 T FOT W AN 6% Ui a9 i 3T 3@ T 4,000 , ST A
TR B, TR ST |

(iv) Tuser a9 a1 AT T 45,000; T 48,000 @1 T 33,000 @1 |
3k TSAIERT 3T I e & HERi T USil @I R ity |

On 31% March, 2014, the Balance Sheet of Pooja, Qureshi and Ross, who were

partners in a firm was as under :

Balance Sheet as on 31° March, 2014

Liabilities Amount Assets Amount

® Q)
Sundry Creditors 2,50,000 | Building 2,60,000
Reserve Fund 2,00,000 | Investment 1,10,000
Capitals : Qureshi’s loan 1,00,000
Pooja 1,50,000 Debtors 1,50,000
Qureshi  1,00,000 Stock 1,20,000
Ross 1.00.000 | 3,50,000 | Cash 60,000
8,00,000 8,00,000

Qureshi died on 1* July, 2014. The profit sharing ratio of the partners was 2 : 1 : 1. On
the death of a partner the partnership deed provided for the following :

(1)  His share in the profits of the firm till the date of his death will be calculated on
the basis of average profit of last three completed years.

(i) Goodwill of the firm will be calculated on the basis of total profit of last two
years.

(ii1) Interest on loan given by the firm to a partner will be charged at the rate of 6% p.a.
or T 4,000 whichever is more.

(iv) Profits for the last three years were ¥ 45,000; ¥ 48,000 and ¥ 33,000.

Prepare Qureshi’s Capital Account to be rendered to his executors.



12. 39T, FeliA T el U B & QIR & T&1 5 ¢ 3 : 2 & 3 H o died 9 | 3
g&ish § T 80,000 I @A @& T 40,000 HT YN G9F I9MAT T AT | FEE A BH A
STTHINT UGV A N 0 foram | 3Tk SAIHRT TeUT I i [T W wY H @i H
g 3 1,20,000 Toam T | Sem qEAT WM & S AA AW SO 2 ;3 o |
Tl o TR TEUT i UY 3TE9eh USTee Hfaftear iy | 4

Asha, Naveen and Shalini were partners in a firm sharing profits in the ratio of 5 : 3 : 2.
Goodwill appeared in their books at a value of I 80,000 and General Reserve at
% 40,000. Naveen decided to retire from the firm. On the date of his retirement goodwill
of the firm was valued at ¥ 1,20,000. The new profit ratio decided among Asha and
Shalini is 2 : 3.

Record necessary Journal Entries on Naveen’s retirement.

13. o qor frfeehT Uk wH H WEIGR & 991 3 : 2 % U H oA died 9 | 31 A, 2014 H HH
1 et foeroT 7 TR o

N s - s

(9] ®)
fafir= oFeR 80,000 | % 1,72,000
Totfarent =l &=t 1 0T 20,000 | 38R 27,000
G ik 50,000
Ty 1,75,000 T 2,20,000

forfahr  _1.94,000 | 3,69,000

4,69,000 4,69,000

ST Tdfd 1 wH i foee g T | geatat ool a9 Sgaret H e Fe TR |
[ERIEICIE

(@) WL T 50% FHAER LB Tod ¥ 20% T W o o1 | 99 FA= &6 T 1,05,000
a9 T T |

(@) ©HER ¥ T 26,000 U &Y |
(M  Tofaesr = ¥ 29,000 # wie o forar |
() TrfeshT T 961 o ROT 1 M T 2,000 % AT & A1 T AT T4 |

(¥ agelt &I T 5,000 & |
TG W, EIRRT o ST @I 7 S Wi oaR i | 6
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Parth and Shivika were partners in a firm sharing profits in the ratio of 3 : 2. The

Balance Sheet of the firm on 31% March, 2014 was as follows :

Liabilities Amount Assets Amount
® ®

Sundry Creditors 80,000 Bank 1,72,000

Shivika’s sister’s loan 20,000 Debtors 27,000

Capitals : Stock 50,000

Parth 1,75,000 Furniture 2,20,000
Shivika _1.94.000 | 3,69,000

4,69,000 4,69,000

On the above date the firm was dissolved. The assets were realized and the liabilities

were paid off as follows :

(a) 50% of the furniture was taken over by Parth at 20% less than book value. The
remaining furniture was sold for ¥ 1,05,000.

(b) Debtors realized ¥ 26,000

(c) Stock was taken over by Shivika for ¥ 29,000.

(d) Shivika’s sister’s loan was paid off along with an interest of I 2,000.

(e) Expenses on realization amounted to I 5,000.

Prepare Realisation Account, Partner’s Capital Accounts and Bank Account.

14, @™ T TR0 o FHESH % G¥ET 31 T, 2014 I IS, TS 91 S 6 goi @i §
AT T 80,000, T 60,000 TAT T 40,000 T ¥ AT | THH UV I8 T Al {oh Uit o
3R] W) AT el oRIET 7T |

31 |, 2014 1 THT gC a9 | @ T 80,000 2T |

Y § WS T Fe5 YAk o SR [hoedi § U HE o 3 | Fot T 24,000 H
30T feraT T FAT A et T 36,000 T 30T fha |

3T W 0T a9 5% Y 5T F AT o1 AT 27 OoTt W Ui o 10% st 5T F = 3
o |

TTSISRI ol o U 4:3: 197 |

31O TR OIS ht T T U Ueh ST IR Wame I |
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On March 31%, 2014, the balances in the capital accounts of Saroj, Mahinder and Umar

after making adjustments for profits and drawings etc. were I 80,000, ¥ 60,000 and

T 40,000 respectively. Subsequently it was discovered that the interest on capital and

drawings has been omitted.
° The profit for the year ended 31* March, 2014 was T 80,000.
o During the year Saroj and Mahinder each withdrew a sum of I 24,000 in equal

installments in the end of each month and Umar withdrew ¥ 36,000.

o The interest on drawings was to be charged @ 5% p.a. and interest on capital was
to be allowed @ was 10% p.a.

o The profit sharing ratio among partners was 4 : 3 : 1

Showing your working clearly, pass the necessary rectifying entry.

() e S T Tt viateat § e @ o 9kl 6
fafer faaror amE) | W ®)
EgiRelnl ™ -
qaH
39T &1 Wil o 3,000
39T e @ @
T AT @
(% 10 U= % 1,000 3791 57 T 2 wfey ofer
& e IX I fohar T ot qer e
W T 8 Ul 7T WM WA a1 (3 2 WiHEs
Hled) T 3T 5 3 TR WH=w Gied ud
FT9T AT T 2 T 3797 HAH 1o 1 T
T T T
EEREIn am 9,800
39T ISt @
q

(% 14 9T 371 Q0T T_T 700 0 6
ﬂ?z&lﬁﬂ?)

T 0T Wi aH -
ST G wT o o
(2301 TR T 3iRTt o O TR o) @ o
ST G W H IR
9
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(@) A S TE AT viarear § e Tt i

(a)

67/1/2

(Being 700 shares reissued @ X 14 per
share fully paid-up)

fafar faazm 9| MR | TR
391 g1 @ T 80,000
3?1 BT @I |
Bl 30,000
3T T AT W |
(X 100 7= & 1,000 3T 59 9¥ T 80 Wit
%1 | T o 7 S 10% % §9g W
Tt foam T &t % 30 Wi 3fR1 i e
JTEAT TART T A T HA T BT TR
T )
I @ T
A _
o o R
(® 70 Wi 3791 =l 5T W X 80 W 400 iR
EaRCREUECRER e )
3T &0T G@rell T .
S T
(BX0T foR T BTN o UAFIEA OX o i
TSt Go @I § SR 6T T 1)
Fill in the blank spaces in the Journal Entries given below :
Date Particulars F| Dr.R®® Cr.®
Share Capital A/c. Dr.
Dr.
To Share Forfeited A/c. 3,000
To Share Allotment A/c.
To Share First Call A/c.
(Being 1,000 shares of I 10 each ¥ 8
called up issued at a premium of I 2 per
share forfeited for non-payment of
allotment of ¥ 5 per share including
premium and first call of ¥ 2 per share)
Bank A/c. Dr. 9,800
To Share Capital A/c.
To

Share Forfeited A/c. Dr.
To Capital Reserve A/c.

(Being gain on reissue of forfeited shares

transferred to capital reserve)

10




(b) Fill in the blanks spaces in the Journal Entries given below :

Date Particulars F| Dr.®® Cr.®
Share Capital A/c. Dr. 80,000
To Share Forfeited A/c.
To 30,000
To Share First Call A/c.
(Being 1,000 shares of ¥ 100 each, ¥ 80
called up issued at a discount of 10%
forfeited for non-payment of first call of
T 30 per share)
Bank A/c. Dr.
Dr.
To Share Capital A/c.
(Being 400 shares reissued at ¥ 70 per
share X 80 paid-up)
Share Forfeited A/c. Dr.
To Capital Reserve A/c. _
(Being gain on reissue of forfeited shares
transferred to capital reserve)
16. 31 TTE, 2014 1 31 qT {1 o1 Feafey Taamor fe e 4 o
o s o e
e ® ! ®
AR 13,000 | = 15,000
A o Hf 8,000 | &R 22,000
FHHART &Afdqqfd ffy 15,000 | =21 : g Fol & folw
EleEIE] 1,000 | 21,000
ESLE s 10,000
EiE) 55,000 REERERNIEH] 60,000
[EER 30,000 | 85,000 | @A 10,000
AT Qe 5,000
1,21,000 1,21,000

T % A H Y4 9T o ToTT Tos 61 Uk WigigR s T | J8 Mo foran T T
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()

% 1,500 % Zad 0T 1 TqoiE foham ST |

(@) ¥ 8,000 F LIk T qAT o7 7 JAh Jod UR 370 AN 3T § o foram | 91 Wik

Q)

T Tediw ¥ 2,500 foram T |
T TS TN T A1 BT Godish= s6AST: T 32,000 T T 20,000 feram = |

(=) o =nid o AT 9 A g |
(%) Toa SruTfas Ustt oIt e 3T e fo ol USit 1 7S TR 3TaT s b ST
Yok 3T TN STUT | FHTSTd fohar St |
AT Wl T TTRIRRT % Ui T GaR i |
vt
Al T AT T FEIER & T2 5699 50%, 30% 31X 20% & sed & 1 31 |, 2013
Tl 3T T foreroT 7 Wb & ot -
. t] . i
Tgant Tt
(9] (9]
TRR 28,000 | TFg 34,000
faey ffy 10,000 | I’R 47,000
e 3ar-=gE Mty 10,000 | =T : g T Wiy
FOT & TIT rere= 3,000 44,000
G ESica 15,000
SAfete 50,000 BEN 40,000
TR 40,000 eIt 20,000
Eici) 25.000 | 1,15,000 | =T Ta g1f9 @rar 10,000
1,63,000 1,63,000
ST Tt B AYT = STehTeT WeuT fohal qT oAfetd Ue T 5 9= 91/t ) |ERRT & =]
TG o T fora
(F) Y I B H G T 51,000 W fwar s |
(@) HEEARS fdrd 1 T 6,000 M @ 97 |
(M et % 15,000 T =TT |
(F) I O & oIt werem &t 3 1,000 T 9= T4 |
(¥) TR B THS T 10,300 FT R PAE F A0 T qAT 99 B 3G W07 @i H

TR T 51 7 | G T 12% Tt a9 S31ST o | ] SRreR foRvdl § A
o |

HCR G, WIEIRRI o UsT @I 727 Yo7 ST 84 b TeR 31 F0T @Il R SISy |
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Following is the Balance Sheet of Abha and Binay as at 31* March, 2014 :

Amount Amount
Liabilities Assets
(9] (9]
Creditors 13,000 | Bank 15,000
Employees Provident Fund 8,000 | Debtors 22,000
Workmen’s Compensation Less : Provision for
Fund 15,000
un doubtful debts 1.000 | 21,000
Capitals : Stock 10,000
Abha 55,000 Plant & Machinery 60,000
Binay 30,000 85,000 | Goodwill 10,000
Profit & Loss 5,000
1,21,000 1,21,000

Chitra was admitted as a partner for Y4 share in the profits of the firm. It was decided

that :
(a)
(b)

Bad Debts amounted to ¥ 1,500 will be written off.

profit sharing ratio. The remaining stock was valued at ¥ 2,500.

(©

respectively.
(d)
(e

Chitra brought her share of goodwill in cash.

Stock worth ¥ 8,000 was taken over by Abha & Binay at Book value in their

Plant & Machinery and goodwill were valued at ¥ 32,000 and X 20,000

Chitra will bring proportionate capital and the capital of Abha and Binay will be

adjusted in their profit-sharing ratio by bringing in or paying off cash as the case

may be.

Prepare Revaluation Account and Partner’s Capital Accounts.

67/1/2
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Lalit, Madhur and Neena were partners sharing profits as 50%, 30% and 20%
respectively. On March 31* , 2013 their Balance Sheet was as follows :

Amount Amount
Liabilities Assets
® ®
Creditors 28,000 | Cash 34,000
Provident Fund 10,000 | Debtors 47,000
Investment Fluctuation Fund 10,000 | Less : Provision for

Bad & Doubtful Debts _ 3.000 44,000

Capitals : Stock 15,000
Lalit 50,000 Investment 40,000
Madhur 40,000 Goodwill 20,000
Neena 25.000 | 1,15,000 | Profit & Loss A/C 10,000

1,63,000 1,63,000

67/1/2

On this date, Madhur retired and Lalit and Neena agreed to continue on the following

terms :

(a) The goodwill of the firm was valued at ¥ 51,000.

(b) There was a claim for workmen’s compensation to the extent of ¥ 6,000.
(c) Investment were brought down to ¥ 15,000.

(d) Provision for bad debts was reduced by ¥ 1,000.

(e) Madhur was paid ¥ 10,300 in cash and the balance was transferred to his loan

account payable in two equal installments together with interest @ 12% p.a.

Prepare Revaluation A/C, Partner’s capital Accounts and Madhur’s loan A/C till
the loan is finally paid off.

14




17. o fafaes ot usiiga Ostt % 50,00,000 & T a8 3 100 Uish o THaT 391 | foiieid ¢ |
FHIET = ST Bl 42,000 39T o FH & Tow s foman | it 1 ehR 9 5 ot

3eRA T — ¥ 30iq e
ETT T — T 40 v 37T (s afea)
ToT g7 3 I W — T 50 Ui 3T

40,000 37T & feTT 3TMagT UTeT g |

1t T SigeRt Tt Tferelt et &1 7

AT H, 596 9 100 3797 &, 3Teiest T AT 19T 1 JTAH el e |
ITet , 5Tk 9T 200 37T &, AT T T JIa =& B |

AT T TICT AT TS o 3T T 207 T foral | 3qeh PN &0 okl T3t 3wl =t % 70 Wi
39T Y07 e O FIHA Y T T |

SRR TIeAT o [T AT bt ehs &l a7 T H 3Tegeh Niaredr iy | 8
aran

AT % F T 100 U 3 50,000 3790 FH1 10% & 95 W FFE To6ar, ST 3fesT W T 20 ;
T 9T 3 30 997 YW a1 AT IEAT Ueds W T 2039 9 | 75,000 3R & fow smmeeT
TS W | 25,000 3791 & SERHAT i TE-UF USTHT I ST T MG HT G TE |

e, T YRS A, 319 1,500 M WX e TRT 1 PIA &l 762, 36 TRT Sl 1A
3T T FTeAT & W T |

U SRTERE T A, 596 9 500 3797 o, IET AT H P e KT AT FH
TS | T STERE FHA A, e ar 1,000 3797 &, 7 YT AT q97 SEIA q&AT SAH AT
T PTAA el AT | 3Tk ST o 80T KT o7l T | 207 o6 T 3ielt Rl T 120 Wi 37T
U7 ve g e T e |

ST THIAT o 1T FHET St JEAehl | STEvaeh ST Ut Hitey |
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Rolga Ltd. is having an authorized capital of ¥ 50,00,000 divided into equity shares of
% 100 each. The company offered 42,000 shares to the public. The amount payable

was as follows :
On Application — % 30 per share
On Allotment — R 40 per share (including premium)
On First and Final Call — 50 per share
Applications were received for 40,000 shares.
All sums were duly received except the following :
Lal, a holder of 100 shares did not pay allotment and call money.
Pal, a holder of 200 shares did not pay call money.

The company forfeited the shares of Lal and Pal. Subsequently the forfeited shares
were reissued for I 70 per share as fully paid-up. Show the entries for the above

transactions in the cash book and journal of the company.
OR

Mamta Fab Ltd. issued 50,000 shares of I 100 each at a discount of 10% payable as
% 20 on application; ¥ 30 on allotment and ¥ 20 each on first and final call.
Applications were received for 75,000 shares. Applicants of 25,000 shares were sent

letters of regret and application money was refunded.

Mohan, a holder of 1,500 shares failed to pay allotment money which he paid along

with the first call.

Raman, a shareholder holding 500 shares paid both the calls along with allotment.
Kamal, a shareholder holding 1000 shares did not pay first call and second and final
call. His shares were forfeited. The forfeited shares were re-issued at ¥ 120 per share

as fully paid up.

Pass necessary Journal Entries for the above transaction in the books of the company.
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O -
(faea - 1)
PART -B

(Option - 1)
(ferehtar ferareutt a6 31w)

(Analysis of Financial Statements)

18. St faifaes” HITST ScuTeH o1 =ad™ Sl & | 9] a9 | 38+ T 30,00,000 3t T 1 5537
foram, 3O 310 HEARAT HF T 60,000 F o T P b | 30 o & fow fa =t
SMETAHAT Y, 37 T8 T 20,00,000 F 3T 1 110 2 | =me] o | 39+ T 9,00,000
AN 3T TR |

T Tiareieal & Aehg WaTE bt 0T SHiteTd | 1

‘G Ltd.” is carrying on a paper manufacturing business. In the current year, it purchased

machinery for ¥ 30,00,000; it paid salaries of ¥ 60,000 to its employees; it required
funds for expansion and therefore, issued shares of I 20,00,000. It earned a profit of
T 9,00,000 for the current year.

Find out cash flows from operating activities.

19. FER feafiee, U fomi 0T A, a9 % SR 12% U a9 & 3 | T 5,00,000 3 FOT F2Aq
M T | Aehg aTE T9eR0T 9aR d q9F i 0 9 39 169 UehR @l Tiidtary | |iferd
ToRa ST 1
(F) e TfafateEt
(@) o TiatarEn
(M) S et e e MfatateRt
OEEEIEERIGIEIER

Kaveri Ltd. a financing company obtained loans and advances of ¥ 5,00,000 during the

year @ 12% p.a. It will be included in which of the following activities while preparing

the cash flow statement ?

(a) Investing Activities

(b) Financing Activities

(c) Both Investing and financing activities

(d) Operating activities

67/1/2 17 [P.T.O.



20.

21.

22.

67/1/2

1 o o SR W Helel W U™ &l TOFT HINT . S adl L & O9ald 5 A
% 8,00,000; 10% 0795 % 9,00,000; FH @ 50%; faf=itsta Tstt T 2,00,00,000.

With the help of the following information, calculate Return on Investment; Net Profit
after interest and Tax I 8,00,000; 10% Debentures T 9,00,000; Tax @ 50%; Capital
Employed % 2,00,00,000.

() HEAT U, 1956 B Gt VI, 90T [ & AR = 71 i {57 g7 oiueht qer 3u-
IRl o ST ShuHT o edfet ToeRoT | S9mar SR 2

() % etufoey
(i) Jwed
(iii) T
(iv) <rematy meye
(@) faxiig foeron & fageioT = = o & 2

(@) Under which major headings and sub-headings the following items will be
shown in the Balance Sheet of a company as per Schedule VI, Part I of the
Companies Act, 1956.

(i)  Bank Overdraft

(1)) Cheques in Hand
(iii)) Loose Tools

(iv) Long term provisions

(b) What is meant by ‘Analysis of Financial Statements’ ?

o (\(l'\

fora, Afed e fatee =1 uey Hevs a1 | food &0 auf § AT SaR 31T oty
ST X T& o | Torfid = e bl WAl Sicil STUART g8 off | 39k Ty el
AHH I8 310 ST o T 37 o fovarg Tadr o1 | AT = 3ol § Ueh faamer ot
I ToRAT g3 o1 e I Tetloh bt RIS B off AR et o | 31 T, 2014 H Aferd
T fAfeg sl JemTcHe -8l faerr = TR & o

- AT | 2012-13 | 2013-14 | IOT URER %
| ® ® ® aRad
T 9 ST 12,00,000 | 16,00,000 |  4,00,000 |  33.33
T FHEAR N 2T 3,00,000 | 4,00,000 1,00,000 | 33.33
T qF A 9,00,000 | 12,00,000 |  3,00,000 |  33.33
F @ 40% 3,60,000 | 4,80,000| 1,20,000| 33.33
T qLEI o 5,40,000 | 7,20,000| 1,80,000 | 33.33

(%) 31 W, 2013 TAT 2014 T T §C TUT o (I I5 AN 31T i TUMT HIFT |
(@) ST Efd § GH B F8Ifd 6T S aret 6= 31 Jodi sl Ted Hie |
18




23.

Vineet was the Managing Director of Lalit Plastics Ltd. For the last six years the company
had been consistently earning good profits. Vineet followed democratic style of
leadership. He believed in giving respect to his subordinates by agreeing to their good
suggestions. The company also opened a school for girls in the locality and also
contributed towards the cleanliness of the locality. Following is the comparative
‘Statement of Profit & Loss’ of Lalit Plastics Ltd. for the years ended 31 March, 2014 :

Particulars Note | 2012-13 | 2013-14 | Absolute | Percentage
No. ® ® change (%) change

Revenue from 12,00,000 | 16,00,000 4,00,000 33.33
operations

Less : Employee benefit 3,00,000 | 4,00,000 1,00,000 33.33
expenses

Profit before tax 9,00,000 | 12,00,000 3,00,000 33.33
Tax @ 40% 3,60,000 | 4,80,000 1,20,000 33.33
Profit after tax 5,40,000 | 7,20,000 1,80,000 33.33

(a)
(b)

above case.

31 |, 2014 i I7 feataes = fefq feawor = v o

Calculate Net Profit ratio for the years ending 31* March, 2013 and 2014.

Identify any two values which are being communicated to the society in the

67/1/2

P Srew | 31-3-2014 | 3132013
) )
HHAT qAqT FgaTd
(1) 3ieTes Mt
(31 ISt 20,00,000 | 15,00,000
(F) Tog U oM 1 5,00,000 | 3,00,000
(2) ZrEel A
SreehTei T 3,00,000 | 2,00,000
(3) ey <Fam
(37) AR T 1,50,000 |  2,00,000
(F) TIHCA TEEH 2 70,000 60,000
Fel 30,20,000 | 22,60,000
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it
(1) /= SEaar
(a) TR U
() 9o Rt 19,00,000 | 15,00,000
(i) e gt 4,70,000 |  2,70,000
(2) ] dfeeEfE
(30) Wi (AT 2,50,000 | 1,60,000
() SR wirEr 2,10,000 | 2,10,000
(F) kg qAT UhS oA 1,90,000 | 1,20,000
Fel 30,20,000 | 22,60,000
@l & A1
:EFT P 31-3-2014 | 31-3-2013
& ) )
1. | 999 Td 3T
ST (M- fereRoT <t 9iw) 5,00,000 3,00,000
2. | THHEI wEEE
T T 70,000 60,000
3. | gof ufcamfaat
TR T JeaeT 27,00,000 | 21,00,000
4. | oTqe ufcgmfaat (8,00,000) |  (6,00,000)
2] 4,70,000 2,70,000

= TETISHT Bl &9 | Y@ g U Ahg YaTE ekl daR hifsTe

Y % IR T TR, a6t 0T T 30,000 o T 519 o1 uehtrd Jeaerd 6,000 o1, &

20,000 H s=7 T

67/1/2
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Following was the Balance Sheet of Sreshtha Ltd. as on 31% March, 2014 :

] 31-3-2014 | 31-3-2013
Particulars Note No. @ @
Equity & Liabilities
(I) Shareholders Funds
(a) Share Capital 20,00,000 | 15,00,000
(b) Reserves and Surplus 1 5,00,000 3,00,000
(2) Non-current Liabilities
Long term borrowings 3,00,000 2,00,000
(3) Current Liabilities
(a) Trade payables 1,50,000 |  2,00,000
(b)  Short term provisions 2 70,000 60,000
Total 30,20,000 | 22,60,000
Assets
(I) Non-Current Assets
(a) Fixed Assets
(i) Tangible assets 3 19,00,000 | 15,00,000
(i1) Intangible assets 4 4,70,000 2,70,000
(2) Current Assets
(a) Inventories 2,50,000 1,60,000
(b) Trade Receivables 2,10,000 2,10,000
(c) Cash and Cash Equivalents 1,90,000 1,20,000
Total 30,20,000 | 22,60,000
Notes to Accounts :
S. No. As on As on
Particulars 31-3-2014 | 31-3-2013
) )
1. Reserves and Surplus
Surplus (Balance in Statement of Profit 5,00,000 3,00,000
and Loss)
2. Short term provisions
Provision for tax 70,000 60,000
3. Tangible Assets
Machinery 27,00,000 21,00,000
Accumulated Depreciation (8,00,000) | (6,00,000)
4. Intangible Assets
Goodwill 4,70,000 2,70,000

Prepare a Cash Flow Statement after taking into account the following adjustment :

During the year a piece of machinery costing I 30,000 on which accumulated
depreciation was I 6,000, was sold for ¥ 20,000.
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18.

19.

20.

67/1/2

0T -
(fasew - 1)
PART - B
(Option - II)
(fuenfers dais)

(Computerised Accounting)

1T 99 feoe @ aead &

F) Ul TTeEE % faf= 9T ot T o faeron
(@) WA FH ToT TSeTTeH

(M) Foit veet qur Wity 1 fere

() ST H F HiE Tl

‘Database Design’ refers to

(a)  Description of the structure of different parts of the overall database.
(b) Basic design of the software

(c) Design of Keyboard and CPU

(d) None of the above

QAT o THEHOT T I TSl (STeT) I 7 TR I ST ¢ :
(@) R, WA, ST a7 o5

() 3T 991 =T

() ARt OST, ST, S a9 Y

The ‘Grouping of Accounts’ means the classification of data from :
(a) Assets, Liabilities and Capital

(b)  Assets, Owners’ Equity, Revenue and Expense

(c) Revenue and Expenses

(d) Assets, Capital, Liabilities, Revenue and Expense

oAl | e TR UehR o TREieh MHTOTehT hl THEET |

Explain different types of Accounting Vouchers ‘as categorized in Tally’.
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21.

22.

23.

67/1/2

/=TS o SUANT o [oheel Gl T bl THETEY |

Explain any two advantages of using Graphs/Charts.

SEHIT ST S AT “Fa SR | {ohal 9] 3R] U 38 SHhifeT |

Differentiate between ‘Desktop Database’ and ‘Server Database’ on any four basis.

#30 | Jqfe Bl I B P TN 1 Sooid HISTT |
State the steps to correct #VALUE ! Error.
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